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Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh lhjht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 

Paper Code 
5 7 1 
(To be filled in the  

OMR Sheet) 

Á’uiqfLrdk Øekad 
Question Booklet No. 

Á’uiqfLrdk lhjht 
Question Booklet Series 

B 
O.M.R. Serial No.         

 

tc rd dgk u tk;] bl Á’uiqfLrdk dks u [kksysa 

57
1 



Series-B B.Com - C010104T/ 571 Page - 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Series-B B.Com - C010104T/ 571 Page - 3 

1. In a _________ connection, more 

than two devices can share a single 

link. 

(A)   Point-to-point 

(B) Primary 

(C) Multi-point 

(D) Secondary 

 1. ,d _________dusD’ku esa] nks ls vf/kd 

fMokbl ,d fyad lk>k dj ldrs gSaA 

(A) fcUnq ls fcUnq 

(B) izkFkfed 

(C) cgq&fcUnq 

(D) ek/;fed 

2. Communication between a 

computer and a keyboard 

involves_________transmission. 

(A)   Full-duplex 

(B) Half-duplex 

(C) Simplex 

(D) None of these 

 2. dEI;wVj vkSj dhcksMZ ds chp lapkj 

esa_________gLrkarj.k ‘kkfey gksrk gSA 

(A) Qqy&MqIysDl 

(B) gkWQ&MqIysDl 

(C) flEIysDl 

(D) buesa ls dksbZ ugha 

3. An unauthorized user is a 

network_________issue. 

(A)   Performance 

(B) Reliability 

(C) Security 

(D) All of the above 

 3. ,d vufk/kd̀r mi;ksxdrkZ ,d usVodZ 

_________eqÌk gSA 

(A) izn’kZu 

(B) fo’oluh;rk 

(C) lqj{kk 

(D) Åij ds lHkh 
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4. What is an operating system? 

(A)   Interface between the 

hardware and application 

programs 

(B) Collection of programs that 

manages hardware resources 

(C) System service provider to 

the application programs 

(D) All of the mentioned 

 4. ,d vkWijsfVax fLkLVe D;k gS\ 

(A) gkMZos;j vkSj ,fIyds’ku izksxzke ds 

chp baVjQsl 

(B) gkMZos;j lalk/kuksa dk izca/ku djus 

okys dk;ZØeksa dk laxzg 

(C) vkosnu dk;ZØeksa ds fy, flLVe lsok 

 iznkrk  

(D) lHkh mfYyf[kr 

5. In Operating Systems, which of 

the following is/are CPU 

scheduling algorithms? 

(A)   Priority 

(B) Round Robin 

(C) Shortest job first 

(D) All of the mentioned 

 5. vkWijsfVax fLkLVe eas] fuEufyf[kr esa ls dkSu 

lhih;w ‘ksM~;wfyax ,Yxksfjne gS@gSa\ 

(A) izkFkfedrk 

(B) jkmaM jkWfcu 

(C) lcls NksVk dke igys 

(D) lHkh mfYyf[kr 

6. To access the services of the 

operating system, the interface is 

provided by the _________. 

(A)   Library 

(B) System calls 

(C) Assembly instructions 

(D) API 

 6. vkWijsfVax flLVe dh lsokvksa rd igq¡pus ds 

fy, baVjQs+l _________}kjk iznku fd;k 

tkrk gS% 

(A) iqLrdky; 

(B) flLVe dkWy 

(C) fo/kkulHkk funsZ’k 

(D) ,Œ ihŒ vkbZŒ 
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7. Which one of the following errors 

will be handle by the operating 

system? 

(A)   Lack of paper in printer 

(B) Connection failure in the 

network 

(C) Power failure 

(D) All of the mentioned 

 7. fuEufyf[kr esa ls dkSu lh =qfV vkWijsfVax 

flLVe }kjk fu;af=r dh tk,xh\ 

(A) fizaVj esa dkxt dh deh 

(B) usVodZ esa dusD’ku foQyrk 

(C) fctyh dh foQyrk 

(D) lHkh mfYyf[kr 

8. Which one of the following is not 

a real time operating system? 

(A)   RT Linux 

(B) Palm OS 

(C) QNX 

(D) Vx works 

 8. fuEufyf[kr esa ls dkSu ,d jh;y Vkbe 

vkWijsfVax fLkLVe ugha gS\ 

(A) vkjŒ VhŒ fyUkDl 

(B) ike vks,l 

(C) D;wŒ ,uŒ ,DlŒ 

(D) oh,Dl oDlZ 

9. A spelling checker is also called: 

(A)   Electronic encyclopedia 

(B) Electronic thesaurus 

(C) Electronic dictionary 

(D) None of these 

 9. Lisfyax psdj dks Hkh dgk tkrk gS% 

(A) bysDVªkWfud fo’odks’k 

(B) bysDVªkWfud dks’k 

(C) bysDVªkWfud ‘kCndks’k 

(D) buesa ls dksbZ ugha 

10. What is the full form of DBMS? 

(A)   Data of Binary Management 

System 

(B) Database Management System 

(C) Database Management Service 

(D) Data Backup Management 

System 

 10. Mhch,e,l dk iw.kZ :i D;k gS\ 

(A) ckbujh eSustesaV flLVe dk MsVk 

(B) MsVkcsl izca/ku iz.kkyh 

(C) MsVkcsl izca/ku lsok 

(D) MsVk cSdvi izca/ku iz.kkyh 
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11. What is a database? 

(A)   Organized collection of 

information that cannot be 

accessed, updated, and 

managed 

(B) Collection of data or 

information without 

organizing 

(C) Organized collection of data 

or information that can be 

accessed, updated, and 

managed 

(D) Organized collection of data 

that cannot be updated 

 11. MsVkcsl D;k gS\ 

(A) lwpukvksa dk laxfBr laxzg ftls 

,Dlsl viMsi vkSj izcaf/kr ugha fd;k 

tk ldrk gS 

(B) fcuk vk;kstu ds MsVk ;k lwpuk dk 

laxzg  

(C) MsVk ;k lwpuk dk laxfBr laxzg ftls 

,Dlsl] viMsV vkSj izcaf/kr fd;k tk 

ldrk gS 

(D) MsVk dk laxfBr laxzg ftls vn~;ru 

ugha fd;k tk ldrk 

12. Who created the first DBMS? 

(A)   Edgar Frank Codd 

(B) Charles Bachman 

(C) Charles Babbage 

(D) Sharon B. Codd 

 12. igyk DBMS fdlus cuk;k\ 

(A) ,Mxj ÝSad dksM~Ms 

(B) pkYlZ cSPeu 

(C) pkYlZ cScst 

(D) ‘ksjksu chŒ dksM~Ms 

13. Which type of data can be stored 

in the database? 

(A)   Image oriented data 

(B) Text, files containing data 

(C) Data in the form of audio or 

video 

(D) All of the above 

 13. MsVkcsl esa fdl izdkj ds MsVk dks LVksj 

fd;k tk ldrk gS\ 

(A) Nfo mUeq[k MsVk 

(B) VsDLV] MsVk ;qDr Qkbys 

(C) vkWfM;ks ;k ohfM;ks ds :i esa MsVk 

(D) mijksDr lHkh 
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14. A huge collection of the 

information or data accumulated 

from several different sources is 

known as_________. 

(A)   Data Management 

(B) Data Mining 

(C) Data Warehouse 

(D) Both (B) and (C) 

 14. dbZ vyx&vyx L=ksrksa ls lafpr tkudkjh 

;k MsVk dk ,d fo’kky laxzg 

_________ds :i esa tkuk tkrk gSA 

(A) MkVk izca/ku 

(B) MsVk ekbfuax 

(C) MsVk os;jgkml 

(D) (B)vkSj (C)nksuksa 

15. The term “Data” refers to: 

(A)   The electronic representation 

of the information (or data) 

(B) Basic information 

(C) Row Facts and figures 

(D) Both (A) and (C) 

 15. ÞMsVkß ‘kCn dk vFkZ gS% 

(A) lwpuk dk bysDVªkWfud izfrfuf/kRo 

(B) ewy tkudkjh 

(C) iafDr rF; vkSj vkadM+s 

(D) (A)vkSj (C)nksuksa 

16. Data processing involves the 

following steps: 

(A)   Editing 

(B) Classification 

(C) Tabulation 

(D) All of the above 

 16. MkVk izkslsfLkax esa fuEufyf[kr pj.k ‘kkfey 

gS% 

(A) laiknu 

(B) oxhZdj.k 

(C) rkfydk cukuk 

(D) Åij ds lHkh 

17. The ability to combine name and 

addresses with a standard 

document is called _________. 

(A)   Document formatting 

(B) Database management 

(C) Mail merge 

(D) Form letters  

 17. ,d ekud nLrkost+ ds lkFk uke vkSj irs 

dks la;ksftr djus dh {kerk dks 

_________ dgk tkrk gSA 

(A) nLrkost Lo:i.k 

(B) MsVkcsl izca/ku 

(C) esy etZ 

(D) izi= i= 
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18. Which enables us to send the same 

letter to different persons? 

(A)   Macros 

(B) Template 

(C) Mail merge 

(D) None of above 

 18. tks gesa ,d gh i= dks vyx&vyx 

O;fDr;ksa dks Hkstus esa l{ke cukrk gS\ 

(A) eSØksl 

(B) VsEiysV 

(C) esy etZ 

(D) mijksDr eas ls dksbZ ugha 

19. Which can be used for quick 

access to commonly used 

commands and tools? 

(A)   Status bar 

(B) Tool bar 

(C) Menu bar 

(D) Title bar 

 19. vkerkSj ij mi;ksx fd, tkus okys dekaM 

vkSj VwYl rd Rofjr igqap ds fy, fdldk 

mi;ksx fd;k tk ldrk gS\ 

(A) LVsVl ckj 

(B) Vwy ckj 

(C) esuw ckj 

(D) ‘kh”kZd ckj 

20. Which of the following is not 

essential component to perform a 

mail merge operation? 

(A)   Main document 

(B) Data source 

(C) Merge fields 

(D) Word fields 

 20. esy etZ vkWijs’ku djus ds fy, fuEu esa ls 

dkSu lk vko’;d ?kVd ugha gS\ 

(A) eq[; nLrkost 

(B) MsVk L=ksr 

(C) etZ Q+hYM 

(D) ‘kCn {ks= 
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21. “Ctrl + Right Arrow” is used to: 

(A)   Moves the cursor one-word 

right 

(B) Moves the cursor end of the 

line 

(C) Moves the cursor end of the 

document 

(D) Moves the cursor one 

Paragraph down 

 21. “Ctrl + Right Arrow dk iz;ksx ds fy, 

fd;k tkrk gS% 

(A) dlZj dks ,d ‘kCn nkbZ vksj ys tkrk 

gS 

(B) ykbu ds dlZj fljs dks f[kldkrk gS 

(C) nLrkost+ dk dlZj var ys tkrk gS 

(D) dlZj dks ,d iSjkxzkQ uhps ys tkrk 

gS 

22. Which of the following are word 

processing software?  

(A)   Word Perfect 

(B) WordPad 

(C) MS Word 

(D) All of above 

 22. fuEufyf[kr esa ls dkSu lk oMZ izkslsflax 

lkW¶Vos;j gS\ 

(A) oMZ ijQsDV 

(B) oMZiSM 

(C) ,e,l oMZ 

(D) mijksDr lHkh 

23. Ctrl + N is used to: 

(A)   Save Document 

(B) Open Document 

(C) New Document 

(D) Close Document 

 23. Ctrl + N dk iz;ksx fd;k tkrk gS% 

(A) nLrkost+ lgstsa 

(B) vksiu nLrkost+ 

(C) u;k nLrkost+ 

(D) nLrkost can djsa 

24. What are inserted as cross-

reference in word? 

(A)   Placeholders 

(B) Bookmarks 

(C)  Objects 

(D) Word fields 

 24. oMZ esa ØkWl&jsQjsal ds :i esa D;k Mkyk 

tkrk gS\ 

(A) IyslgksYMj 

(B) cqdekdZ 

(C) oLrq,a 

(D) ‘kCn {ks= 
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25. By default, on which page the 

header or the footer is printed? 

(A)   On first page 

(B) On alternate page 

(C) On every page 

(D) None of the above 

 25. fMQ+kWYV :i ls] ‘kh”kZ ys[k ;k ikn ys[k 

fdl ì”B ij eqfnzr gksrk gS\ 

(A) igys ì”B ij 

(B) oSdfYid ì”B ij 

(C) izR;sd ì”B ij 

(D) mijksDRk esa ls dksbZ ugha 

26. Where can you find the horizontal 

split bar on MS Word screen? 

(A)   On the left of horizontal 

scroll bar 

(B) On the right of horizontal 

scroll bar 

(C) On the top of vertical scroll 

bar 

(D) On the bottom of vertical 

scroll bar 

 26. ,e0,l0 oMZ LØhu ij vkidks gkWfjtkWUVy 

fLIyV ckj dgka fey ldrk gS\ 

(A) {kSfrt LØkWy iV~Vh ds ckbZa vksj 

(B) {kSfrt LØkWy ckj ds nkbZ vksj 

(C) Å/okZ/kj LØkWy ckj ds ‘kh”kZ ij 

(D) Å/okZ/kj LØkWy iV~Vh ds ry ij 

27. When sharing data in office, the 

_________document is the 

document in which the data was 

first entered. 

(A)   Source 

(B) Destination 

(C) Original 

(D) Primary 

 27. dk;kZy; esa MsVk lk>k djrs le;] 

_________nLrkost+ og nLrkost+ gksrk gS 

ftlesa MsVk igyh ckj ntZ fd;k x;k FkkA 

(A) L=ksr 

(B) xarO; 

(C) ewy 

(D) izkFkfed 
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28. With which view can you see how 

text and graphics will appear on 

the printed page? 

(A)   Normal 

(B) Print Layout 

(C) Outline 

(D) Web Layout 

 28. vki fdl n’̀; ls ns[k ldrs gSa fd eqfnzr 

ì”B ij VsDLV vkSj xzkfQDl dSls fn[kkbZ 

nsaxs\ 

(A) lkekU;  

(B) fizaV ysvkmV 

(C) :ijs[kk 

(D) osc ysvkmV 

29. Portrait and Landscape are: 

(A)   Page Orientation 

(B) Paper Size 

(C) Page Layout 

(D) All of above 

 29. iksVsZªV vkSj ySaMLdsi gSa% 

(A) ist vksfj,aVs’ku 

(B) dkxt dk vkdkj 

(C) ist ysvkmV 

(D) mijksDr lHkh 

30. Which feature helps you to inserts 

the contents of the clipboard as 

text without any formatting: 

(A)   Paste Special 

(B) Format Painter 

(C) Page Setup 

(D) Styles 

 30. fDyicksMZ dh lkexzh dks fcuk fdlh 

QkWesZfVax ds VsDLV ds :i esa lfEefyr djus 

esa dkSu lh lqfo/kk vkidh en~n djrh gS% 

(A) isLV Lis’ky 

(B) QkWesZV isaVj 

(C) ist lsVvi 

(D) ‘kSfy;k¡ 

31. Where can you change the vertical 

alignment? 

(A)   Formatting toolbar 

(B) Paragraph dialog box 

(C) Page Setup dialog box 

(D) Standard toolbar 

 31. vki yacor lajs[k.k dgka cny ldrs gS\ 

(A) Q+kWesZfVax Vwyckj 

(B) iSjkxzkQ Mk;ykWx ckWDl 

(C) ist lsVvi Mk;ykWx ckWDl 

(D) ekud Vwyckj 
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32. A_________is a collection of 

predefined design elements and 

color schemes. 

(A)   Feature 

(B) Hyperlink 

(C) Palette 

(D) Theme 

 32. ,d_________iwoZfu/kkZfjr fMtkbu rRoksa 

vkSj jax ;kstukvksa dk ,d laxzg gSA 

(A) fo’ks”krk 

(B) gkbijfyad 

(C) iSysV 

(D) Fkhe 

33. Change the _________to create a 

document in wide format. 

(A)   Page Orientation 

(B) Page margins 

(C) Paper Style 

(D) Paper Source 

 33. foLrr̀ izk:i esa nLrkost+ cukus ds 

fy,_________ dks cnysaA 

(A) ist vksfj,aVs’ku 

(B) ist ekftZu 

(C) dkxt ‘kSyh 

(D) isij L=ksr 

34. _________formatting is the 

process of changing the way 

letters, numbers, punctuation 

marks, and symbols appear on the 

screen and in print. 

(A)   Document 

(B) Character 

(C) Paragraph 

(D) Object 

 34. _________Lo:i.k LØhu ij vkSj fizaV esa 

v{kjksa] la[;kvksa] fojke fpàuksa vkSj izrhdksa ds 

izdV gksus ds rjhds dks cnyus dh izfØ;k 

gSA 

(A) nLrkost 

(B) pfj= 

(C) vuqPNsn 

(D) oLrq 
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35. The word Count command on the 

Tools menu displays the number 

of words as well as the number of 

_________in the current 

document. 

(A)   Lines 

(B) Characters 

(C) Paragraphs 

(D) All of the above 

 35. VwYl esuw ij oMZ dkmaV dekaM orZeku 

nLrkost+ esa ‘kCnksa dh la[;k ds lkFk&lkFk 

_________ dh la[;k dks iznf’kZr djrk 

gSA 

(A) ykbUl 

(B) v{kj 

(C) vuqPNsn 

(D) mijksDr lHkh 

36. How can you remove borders 

applied in cells? 

(A)   Choose None on Border tab 

of Format cells 

(B) Open the list on Border tool 

in Format Cell toolbar then 

choose first tool (none) 

(C) Both of above 

(D) None of above 

 36. vki lsy esa ykxw ckWMZj dks dSls gVk ldrs 

gSa\ 

(A) Q+kWesZV lsy ds ckWMZj VSc ij dksbZ ugha 

pqusa 

(B) Q+kWesZV lsy Vwyckj esa ckWMZj Vwy dh 

lwph [kksysa] fQj igyk Vwy pqusa ¼dksbZ 

ugha½ 

(C) mijksDr nksuksa 

(D) buesa ls dksbZ Hkh ugha 

37. You can check the conditions 

against _________when applying 

conditional formatting. 

(A)   Cell value 

(B) Formula 

(C) Both of above 

(D) None of above 

 37. l’krZ Lo:i.k ykxw djrs le; vki 

_________ ds f[kykQ ‘krksZa dh tkap dj 

ldrs gSaSA 

(A) lsy eku 

(B) lw= 

(C) mijksDr nksuksa 

(D) buesa ls dksbZ Hkh ugha 
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38. When a range is selected, how can 

you activate the previous cell? 

(A)   Press the Alt key 

(B) Press Tab 

(C) Press Enter 

(D) None of above 

 38. tc ,d Js.kh dk p;u fd;k tkrk gS] rks 

vki fiNys lsy dks dSls lfØ; dj ldrs 

gSa\ 

(A) Alt dqath nck,a 

(B) VSc nck,a 

(C) ,aVªj  nck;s  

(D) buesa ls dksbZ Hkh ugha 

39. Each excel file is a workbook that 

contains different sheets. Which of 

the following cannot be a sheet in 

workbook? 

(A)   Work sheet 

(B) Chart sheet 

(C) Macro sheet 

(D) Data sheet 

 39. izR;sd ,Dlsy Qkby ,d dk;ZiqfLRkdk gS 

ftlesa fofHkUu i=d gksrs gSaA fuEufyf[kr esa 

ls dkSu dk;ZiqfLrdk esa ‘khV ugha gks ldrk 

gS\ 

(A) dk;Z i=d  

(B) pkVZ ‘khV 

(C) eSØks ‘khV 

(D) fooj.k rkfydk 

40. You can merge the main document 

with data source in Excel. In mail 

merge operation, Word is usually: 

(A)   Server 

(B) Source 

(C) Client 

(D) None of the above 

 40. vki ,Dlsy esa MsVk lzksr ds lkFk eq[; 

nLrkost dks etZ dj ldrs gSaA esy etZ 

vkWijs’ku esa] oMZ vkerkSj ij gksrk gS% 

(A) loZj  

(B) lzksr 

(C) xzkgd 

(D) buesa ls dksbZ Hkh ugha 
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41. How can you update the values of 

formula cells if Auto calculate 

mode of Excel is disabled? 

(A)   F8 

(B) F9 

(C) F10 

(D) F11 

 41. ;fn ,Dlsy dk vkWVks dSydqysV eksM v{ke 

gS rks vki QkWewZyk lsy ds ewY;ks dks dSls 

viMsV dj ldrs gSa\ 

(A)   F8 

(B) F9 

(C) F10 

(D) F11 

42. Which of the following Excel 

screen components can NOT be 

turned on or off? 

(A)   Formula Bar 

(B) Status Bar 

(C) Tool Bar 

(D) None of above 

 42. fuEufyf[kr esa ls dkSu lk ,Dlsy LØhu 

?kVd pkyw ;k can ugh fd;k tk ldrk gS\ 

(A) lw= iV~Vh  

(B) LVsVl ckj  

(C) Vwy ckj 

(D) buesa ls dksbZ Hkh ugha 

43. Ctrl + D shortcut key in Excel 

will: 

(A)   Open the font dialog box 

(B) Apply double underline for 

the active cell 

(C) Fill down in the selection 

(D) None of above 

 43. ,Dlsy esaCtrl + D‘kkWVZdV dqath gksxh% 

(A) QkWUV laokn ckWDl [kksysa 

(B) lfØ; lsy ds fy, MCky vaMjykbu 

ykxw djsa  

(C) p;u esa Hkjsa 

(D) buesa ls dksbZ Hkh ugha 

44. To remove the content of selected 

cells you must issue _________ 

command. 

(A)   Delete 

(B) Clear Contents 

(C) Clear All 

(D) Clear Delete 

 44. p;fur lsy dh lkexzh dks gVkus ds fy, 

vkidks _________dekaM tkjh djuk 

gksxkA 

(A) gVk,a 

(B) Li”V fo”k;oLrq 

(C) lHkh lkQ djsa 

(D) gVk,a gVk,a 
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45. What is the shortcut key to replace 

a data with another in sheet? 

(A)   Ctrl + R 

(B) Ctrl +Shift + R 

(C) Ctrl + H 

(D) Ctrl + F 

 45. ‘khV esa MsVk dks nwljs MsVk ls cnyus ds 

fy, ‘kkWVZdV dqath D;k gS\ 

(A)   Ctrl + vkj 

(B) Ctrl +Shift + R 

(C) Ctrl + ,p  

(D) Ctrl+ ,Q 

46. Getting data from a cell located in 

a different sheet is 

called_________. 

(A)   Accessing 

(B) Referencing 

(C) Updating 

(D) Functioning 

 46. ,d vyx ‘khV esa fLFkr lsy ls MsVk izkIr 

djuk _________dgykrk gSA 

(A) ,Dlsl djuk  

(B) lanfHkZr  

(C) vn~;ru djus  

(D) dk;Zdj.k  

47. Which of the following is not a 

valid data type in Excel? 

(A)   Number 

(B) Character 

(C) Label 

(D) Data/Time 

 47. fuEufyf[kr esa ls dkSu ,Dlsy esa ,d oS/k 

MsVk izdkj ugha gSa\ 

(A) la[;k  

(B) pfj= 

(C) yscy 

(D) fnukad le; 
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48. Which area in an Excel window 

allows entering values and 

formulas? 

(A)   Title Bar 

(B) Menu Bar 

(C) Formula Bar 

(D) Standard Tool Bar 

 48. ,Dlsy foaMks esa dkSu lk {ks= ewY;ksa vkSj lw=ksa 

dks ntZ djus dh vuqefr nsRkk gS\ 

(A) ‘kh”kZd VkbZVy 

(B) esuw iV~Vh  

(C) lw= iV~Vh  

(D) ekud midj.k iV~Vh  

49. Multiple calculations can be made 

in a single formula 

using_________. 

(A)   Standard Formulas 

(B) Array Formula 

(C) Complex Formulas 

(D) Smart Formula 

 49. _________dk mi;ksx djds ,d lw= esa 

,dkf/kd x.kuk,a dh tk ldrh gSaA 

(A) ekud lw= 

(B) lj.kh lw= 

(C) tfVy lw= 

(D) LekVZ QkWeZwyk  

50. An Excel Workbook is a collection 

of _________. 

(A)   Workbooks 

(B) Worksheets 

(C) Charts 

(D) Worksheets and Charts 

 50. ,Dlsy odZcqd_________dk ,d laxzg gSA 

(A) dk;ZiqfLrdk,a 

(B) dk;Zi=d 

(C) pkVZ 

(D) dk;Zi=d vkSj pkVZ 
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51. A light sensitive device that 

converts drawing, printed text or 

other images into digital form is: 

(A) Keyboard 

(B) Plotter 

(C) Scanner 

(D) OMR 

 51. ,d izdk’k laosnu’khy midj.k tks Mªkbax] 

eqfnzr ikB ;k vU; Nfo;ksa dks fMftVy :i 

esa ifjofRkZr djrk gS] og gS% 

(A) dhcksMZ 

(B) IykWVj 

(C) LdSuj 

(D) vks,evkj 

52. Which of the following is the 

product of data processing? 

(A)   Information 

(B) Data 

(C) Software Program 

(D) System 

 52. fuEufyf[kr esa ls dkSu MkVk izkslsflax dk 

mRikn gS\ 

(A) tkudkjh 

(B) vkadM+s 

(C) lkW¶Vos;j izksxzke 

(D) iz.kkyh 

53. Which one is not an input device? 

(A) Keyboard 

(B) Mouse 

(C) Speaker 

(D) Scanner 

 53. dkSu lk ,d buiqV fMokbl ugh gS\ 

(A) dhcksMZ 

(B) ekml 

(C) Lihdj 

(D) LdSuj 

54. DNS in internet technology stands 

for: 

(A)   Distributed Name System 

(B) Data Name System 

(C) Dynamic Name System 

(D) Domain Name System 

 54. baVjusV izkS|ksfxdh esa Mh,u,l dk vFkZ gS% 

(A)   Distributed Name System 

(B) Data Name System 

(C) Dynamic Name System 

(D) Domain Name System 
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55. Memories which can be read only 

are called _________. 

(A)   RAM 

(B) ROM 

(C) DROM 

(D) Virtual Memory 

 55. Lef̀r;k¡ ftUgsa dsoy i<+k tk ldrk gS] 

_________dgykrh gSaA 

(A) jSe 

(B) jkse 

(C) Mh jkse 

(D) opZqvy eseksjh 

56. What is the correct association 

between a hardware component 

and a computer function? 

(A)   Monitor > input 

(B) Mouse > input 

(C) CPU > storage 

(D) Hard disk > processing 

 56. gkMZos;j ?kVd vkSj dEI;wVj QaD’ku ds chp 

lgh lEca/k D;k gS\ 

(A) ekWfuVj >buiqV 

(B) ekml > buiqV 

(C) lhih;w> HkaMkj.k 

(D) gkMZ fMLd > izkslsflax 

57. For move to the bottom of a 

document, press _________. 

(A)   Home key 

(B) Ctrl + Home key 

(C) End key 

(D) Ctrl + End key 

 57. fdlh nLrkost ds fupys Hkkx esa tkus ds 

fy,] _________nck,aA 

(A) gkse dqqath 

(B) Ctrl + gkse dqath 

(C) var dqath 

(D) Ctrl + End key 

58. By default, your documents print 

in _________mode. 

(A)   Page setup 

(B) Portrait 

(C) landscape 

(D) Print preview 

 58. fMQkWYV :i ls] vkids nLrkost 

_________eksM esa fizaV gksrs gSaA 

(A) ist lsVvi 

(B) iksVsZªV 

(C) ySamLdsi 

(D) fizaV iwokZoyksdu 
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59. Which of the following was an 

early desktop operating system 

that included an integrated graphic 

user interface with point-and-click 

features 

(A)   MS-DOS 

(B) Mac OS 

(C) Unix 

(D) Gnome 

 59. fuEufyf[kr esa ls dkSu ,d izkjafHkd 

MsLdVkWi vkWijsfVax flLVe Fkk ftlesa 

ikWbaV&,aM&fDyd lqfo/kkvksa ds lkFk ,d 

,dhd̀r xzkfQd ;wtj baVjQsl ‘kkfey Fkk\ 

(A) ,e,l&MkWl 

(B) eSd vks,l 

(C) ;wfuDl 

(D) ftukse 

60. The most recent version of the mac 

OS is based on the_________ 

operating system. 

(A)   Windows 

(B) Linux 

(C) Unix 

(D) CMOS 

 60. eSd vks,l dk uohure 

laLdj.k_________ vkWijsfVax flLVe ij 

vk/kkfjr gSA 

(A) foaMkst 

(B) fyuDl 

(C) ;wfuDl 

(D) lh,evks,l 

61. A websites main page is called its: 

(A)   Home page 

(B) Browser page 

(C) Bookmark page 

(D) Search page 

 61. ,d osclkbV ds eq[; ì”B dks dgk tkrk gS% 

(A) gkse ist 

(B) czkmtj ist 

(C) cqdekdZ ist 

(D) lpZ ist 
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62. When installing_________the user 

must copy usually decompress 

program file from CDROM or 

medium to the hard disk. 

(A)   Programming software 

(B) System hardware 

(C) Application hardware 

(D) Application software 

 62. _________LFkkfir djrs le; mi;ksxdrkZ 

dks lhMhjkWe ;k ek/;e ls gkMZ fMLd ij 

vkerkSj ij Mhdaizsl izksxzke Qkby dh 

izfrfyfi cukuh pkfg,A 

(A) izksxzkfeax lkW¶Vos;j 

(B) flLVe gkMZos;j 

(C) ,fIyds’ku gkbZos;j 

(D) ,fIysds’ku lkW¶Vos;j 

63. A collection of interrelated file in 

computer is: 

(A)   File manager 

(B) Field 

(C) Record 

(D) Database 

 63. dEi;wVj esa ijLij lEcaf/kr Qkby dk laxzg 

gS% 

(A) Qkby izca/kd 

(B) QhYM 

(C) fjdkWMZ 

(D) MsVkcsl 

64. General purpose computer are 

those that can be adopted to 

countless uses simply by changing 

its: 

(A)   Output device 

(B) Input device 

(C) Processor 

(D) Program 

 64. lkekU; iz;kstu ds dEI;wVj os gSa ftUgsa 

dsoy blds ifjorZu ls vufxur mi;kssxkas 

ds fy, viuk;k tk ldrk gS% 

(A) vkmViqV fMokbl 

(B) buiqV fMokbl 

(C) izkslslj 

(D) izksxzke 

65. Magnetic tape is a? 

(A)   Random access medium 

(B) A parallel access medium 

(C) Universal Access medium 

(D) Serial access medium 

 65. pqEcdh; Vsi gS\ 

(A) jSaMe ,Dlsl ek/;e 

(B) , iSjsyy ,Dlsl ek/;e 

(C) ;wfuolZy ,Dlsl ek/;e lhfj;y 

(D) lhfj;y ,Dlsl ek/;e 
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66. Which storage device has the 

largest capacity in MB’s? 

(A)   A floppy disk 

(B) A CD-ROM 

(C) Magnetic tape storage 

(D) Equal Capacity 

 66. MBesa fdl LVksjst fMokbl dh {kerk lcls 

vf/kd gS\ 

(A) ,d ¶ykWih fMLd 

(B) , lhMh&jkse 

(C) pqEcdh; Vsi HkaMkj.k 

(D) leku {kerk 

67. Which storage device cannot be 

erased? 

(A)   A floppy disk 

(B) Magnetic tape storage 

(C) A CD-ROM 

(D) All of the above 

 67. dkSu lk LVksjst fMokbl feVk;k ugha tk 

ldrk gS\ 

(A) ,d ¶ykWih fMLd 

(B) pqEcdh; Vsi HkaMkj.k 

(C) , lhMh&jkse 

(D) mijksDr lHkh 

68. Which of the following languages 

is more suited to a structured 

program? 

(A)   PL/1 

(B) FORTRAN 

(C) BASIC 

(D) PASCAL 

 68. fuEufyf[kr esa ls dkSu lh Hkk”kk lajfpr 

dk;ZØe ds fy, vf/kd mi;qDr gS\ 

(A) ih,y@1 

(B) QksjVªku 

(C) csfld 

(D) ikLdy 

69. A storage system for small 

amounts of data is: 

(A)   Magnetic card 

(B) Magnetic tape 

(C) Punched card 

(D) Optical mark reader 

 69. NksVh ek=k esa MsVk ds fy, ,d HkaMkj.k 

iz.kkyh gS% 

(A) pqEcdh; dkMZ 

(B) pqEcdh; Vsi 

(C) iap dkMZ 

(D) vkWfIVdy ekdZ jhMj 
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70. Which is another name for 

functional language? 

(A)   Machine 

(B) Application language 

(C) Low-level language 

(D) High-level language 

 70. dk;kZRed Hkk”kk dk nwljk uke dkSu lk gS\ 

(A) e’khu 

(B) vkosnu Hkk”kk 

(C) fuEu&Lrj dh Hkk”kk 

(D) mPp Lrjh; Hkk”kk 

71. Compilers and interpreters are 

themselves: 

(A)   High-level language 

(B) Codes 

(C) Programs 

(D) Mnemonics 

 71. daikbyj vkSj nqHkkf”k, Lo;a gS% 

(A) mPp Lrjh; Hkk”kk 

(B) dksM 

(C) dk;ZØe 

(D) fueksfuDl 

72. The first electronic digital 

computer contained? 

(A)   Electronic valves 

(B) Vacuum tubes 

(C) Transistors 

(D) Semiconductor memory 

 72. igyk bysDVªkfud fMftVy dEI;wVj fufgr 

Fkk\ 

(A) bysDVªkWfud okYo 

(B) oSD;we V;wc 

(C) VªkaftLVj 

(D) v/kZpkyd Lef̀r 

73. Which 32-bit microprocessor is 

used in IBM’s PS/2 model-80 

computer? 

(A)   8088 

(B) 80286 

(C) 80386 

(D) 80486 

 73. IBM ds PS/2 ekWMy&80 dEI;wVj esa dkSu 

lk 32&fcV ekbØksizkslslj iz;ksx fd;k tkrk 

gS\ 

(A)   8088 

(B) 80286 

(C) 80386 

(D) 80486 
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74. General purpose computers are 

those that can be adopted to 

countless uses simply by changing 

its. 

(A)   Keyboard 

(B) Printer 

(C) Program 

(D) Display screen 

 74. lkekU; iz;kstu ds dEI;wVj os gksrs gS ftUgsa 

dsoy blds cnyus ls vufxur mi;ksxksa ds 

fy, viuk;k tk ldrk gS% 

(A) dqathiVy 

(B) fizaVj 

(C) dk;ZØe 

(D) fMLIys LØhu 

75. A part located in the central 

processing unit that stores data 

&information is known as: 

(A)   Core memory 

(B) PROM 

(C) EPROM 

(D) ROM 

 75. lsaVªy izkslsflax ;wfuV esa fLFkr ,d Hkkx tks 

MsVk vkSj lwpukvksa dks laxzfgr djrk gS] ds 

:i esa tkuk tkrk gS% 

(A) dksj eseksjh 

(B) izkse 

(C) bZizkse 

(D) jkse 

76. A software package to perform 

calculations on data arranged in an 

array is: 

(A)   System software 

(B) Utility programs 

(C) Electronic spread sheet 

(D) Application programs 

 76. ,d lkj.kh esa O;ofLFkr MsVk ij x.kuk djus 

ds fy, ,d lkW¶Vos;j iSdst gS% 

(A) fLkLVe lkW¶Vos;j 

(B) mi;ksfxrk dk;ZØe 

(C) bysDVªkfud LizsM ‘khV 

(D) vkosnu dk;ZØe 
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77. A factor which would strongly 

influence a businessperson to 

adopt a computer is its: 

(A)   Accuracy 

(B) Reliability 

(C) Speed 

(D) All of the above 

 77. ,d dkjd tks ,d O;olk;h dks dEi;wVj 

viukus ds fy, ǹ<+rk ls izHkkfor djsxk] og gS% 

(A) lVhdrk 

(B) fo’oluh;rk 

(C) xfr 

(D) mijksDr lHkh 

78. The most common input device 

used today is: 

(A)   Track ball 

(B) Scanner 

(C) Mouse 

(D) Keyboard 

 78. vkt bLrseky fd;k tkus okyk lcls vke 

buiqV fMokbl gS% 

(A) VSªd ckWy 

(B) LdSuj 

(C) ekml 

(D) dhcksMZ 

79. Which of the following is the 

fastest? 

(A)   CPU 

(B) Magnetic tapes and disks 

(C) Video terminal 

(D) Sensors, mechanical 

controllers 

 79. fuEufyf[kr esa ls dkSu lcls rst gS\ 

(A) lhih;w 

(B) pqEcdh; Vsi vkSj fMLd 

(C) ohfM;ks VfeZuy 

(D) laslj] ;kaf=d fu;a=d 

80. In which year were chips used 

inside the computer for the first 

time? 

(A)   1964 

(B) 1975 

(C) 1977 

(D) 1981 

 80. dEI;wVj ds vanj igyh ckj fPkIl dk iz;ksx 

fdl o”kZ esa fd;k x;k Fkk\ 

(A)   1964 

(B) 1975 

(C) 1977 

(D) 1981 
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81. Which of the following terms 

could be used to describe the 

concurrent processing of computer 

programs, via CRTs, on one 

computer system? 

(A)   Time-sharing 

(B) Online processing 

(C) Interactive processing 

(D) All the above processing 

 81. ,d dEI;wVj flLVe ij lhvkjVh ds ek/;e 

ls dEI;wVj izksxzke ds leorhZ izlaLdj.k dk 

o.kZu djus ds fy, fuEufyf[kr esa ls fdl 

‘kCn dk mi;ksx fd;k tk ldrk gS\ 

(A) Vkbe&’ks;fjax 

(B) vkWuykbu izlaLdj.k 

(C) baVj,fDVo izkslsflax 

(D) mijksDr lHkh izlaLdj.k 

82. The operation of a digital 

computer is based on_________ 

principle. 

(A)   Counting 

(B) Measuring 

(C) Electronic 

(D) Logical 

 82. fMftVy dEI;wVj dks lapkyu 

_________fl)kUr ij vk/kkfjr gSA 

(A) fxurh 

(B) ekiuk 

(C) bysDVªkWfud 

(D) ykWftdy 

83. Which of the following memories 

needs refresh? 

(A)   SRAM 

(B) DRAM 

(C) ROM 

(D) All of the above 

 83. fuEufyf[kr esa ls fdl Lef̀r dks rktk djus 

dh vko’;drk gS\ 

(A) ,lvkj,,e 

(B) ukVd 

(C) jkse 

(D) mijksDr lHkh 

84. 97 Under descriptive analysis 

statistical tools used are: 

(A)   Calculus 

(B) Percentage 

(C) Mean 

(D) Only (B) and (C) 

 84. 97 o.kZukRed fo’ys”k.k ds vUrXkZr iz;qDr 

lkaf[;dh; midj.k gSa% 

(A) x.kuk  

(B) izfr’kr 

(C) vFkZ 

(D) dsoy (B) vkSj (C) 
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85. Which of the following is not 

sequence storage device? 

(A)   Magnetic disk 

(B) Magnetic tape 

(C) Paper tape 

(D) All of the above 

 85. fuEufyf[kr esa ls dkSu lh lhDosal LVksjst 

fMokbl ugha gS\ 

(A) pqEcdh; fMLd 

(B) pqEcdh; Vsi 

(C) dkxt Vsi 

(D) mijksDRk lHkh 

86. An input/output device at which 

data enters or leaves a computer 

system is: 

(A)   Keyboard 

(B) Terminal 

(C) Printer 

(D) Plotter 

 86. ,d buiqV@vkmViqV fMokbl ftl ij MsVk 

dEI;wVj flLVe esa izos’k djrk gS ;k NksM+rk 

gS% 

(A) dhcksMZ 

(B) VfeZuy 

(C) fizaVj 

(D) IykWVj 

87. Which of the following is a 

secondary memory device? 

(A)   Keyboard 

(B) Disk 

(C) ALU 

(D) All of the above 

 87. fuEu esa ls dkSu ,d lsdsaMjh eseksjh fMokbl 

gS\ 

(A) dqqathiVy 

(B) fMLd 

(C) ,Œ,yŒ;wŒ 

(D) mijksDr lHkh 

88. Which of the following generation 

is characterised by electronic tube 

circuitry, delay line, rotating or 

electrostatic memory. 

(A)   First generation 

(B) Fifth generation 

(C) Third generation 

(D) Second  generation 

 88. fUkEufyf[kr esa ls fdl ih<+h dks bysDVªkfud 

V~;wc lfdZVjh] fMys ykbu] jksVsfVax ;k 

bysDVªksLVSfVd eseksjh dh fo’ks”krk gSA 

(A) igyh ih<+h 

(B) ikapoh ih<+h 

(C) rhljh ih<+h 

(D) nwljh ih<+h 
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89. A connection between two end 

points, either physical or logical, 

over which data may travel in both 

directions simultaneously is 

called_________. 

(A)   Dump point 

(B) Datalink 

(C) Duplex 

(D) Networks 

 89. HkkSfrd ;k rkfdZd nks vafre fcUnqvksa ds chp 

,d dusD’ku] ftl ij MsVk ,d lkFk nksuksa 

fn’kkvksa esa ;k=k dj ldrk gS] _________ 

dgykrk gS% 

(A) Mai IokbaV 

(B) MkVkfyad 

(C) MqIysDl 

(D) usVodZ 

90. Which is part of a computer 

system, enables human operators 

to communicate with the 

computer? 

(A)   Console 

(B) Keyboard 

(C) Printer 

(D) CPU 

 90. tks ,d dEI;wVj flaLVe dk fgLlk gS] ekuo 

vkWijsVjksa dks dEI;wVj ds lkFk lapkj djus esa 

l{ke cukrk gS\ 

(A) dalksy 

(B) dhcksMZ 

(C) fizaVj 

(D) lh0ih0;w0 

91. Who invented the microprocessor? 

(A)   Marcian E Hoff 

(B) Herman H Goldstein 

(C) Joseph Jacquard 

(D) All of the above 

 91. ekbØksizkslslj dk vfo”dkj fdlus fd;k\ 

(A) ekflZ;u bZ- gkWQ 

(B) gjeu ,p- xksYMLVhu 

(C) tkslsQ tSDokMZ 

(D) mijksDr lHkh 

92. Sending data from one place to 

another, by physical or electronic 

means is: 

(A)   E-mail 

(B) Internet 

(C) Data transmission 

(D) Distributed processing 

 92. HkkSfrd ;k bysDVªkfud ek/;e ls MsVk dks 

,d LFkku ls nwljs LFkku ij Hkstuk gS% 

(A) bZ&esy 

(B) baVjusV 

(C) MsVk Vªkalfe’ku 

(D) forfjr izlaLdj.k 
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93. Super-computers: 

(A)   Are found at thousands of 

sites around the world  

(B) Can now fit on a single 

silicon chip 

(C) Are usually designed to 

process accounting 

applications 

(D) Are not fast enough for some 

applications 

 93. lqij&dEI;wVj% 

(A) nqfu;k Hkj esa gtkjksa lkbVksa ij ik, 

tkrs gS 

(B) vc rd flfydkWu fpi ij fQV gks 

ldrk gS 

(C) vkerkSj ij ys[kkadu vuqiz;ksxksa dks 

lalkf/kr djus ds fy, fMtkbu fd;k 

x;k gS 

(D) dqN vuqiz;ksxksa ds fy, iz;kZIr rst 

ugha gS 

94. Main storage is also called: 

(A)   Accumulator 

(B) Control unit 

(C) Register unit 

(D) Memory 

 94. eq[; HkaMkj.k dks Hkh dgk tkrk gS% 

(A) lap;d 

(B) fu;a=.k bdkbZ 

(C) iathdj.k bdkbZ 

(D) eseksjh 

95. Any data or instruction entered 

into the memory of a computer is 

considered as: 

(A)   Storage 

(B) Output 

(C) Input 

(D) Information 

 95. dEI;wVj dh eseksjh esa ntZ fd, x, fdlh Hkh 

MsVk ;k funsZ’k dks ekuk tkrk gS% 

(A) HkaMkj.k 

(B) vkmViqV 

(C) buiqV 

(D) lwpuk 

96. An error is also known as: 

(A)   Bug 

(B) Debug 

(C) Cursor 

(D) Icon 

 96. ,d =qfV ds :i esa Hkh tkuk tkrk gS% 

(A) cx 

(B) Mhcx 

(C) dlZj 

(D) vkbdu 
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97. Microsoft Word is an example of- 

(A)   an operating system 

(B) Processing device 

(C) Application software 

(D) an input device 

 97. ekbØkslkW¶V oMZ dk ,d mnkgj.k gS% 

(A) ,u vkWijsfVax flLVe 

(B) izlaLdj.k midj.k 

(C) ,fIyds’ku lkW¶Vos;j 

(D) ,u buiqV fMokbl 

98. Which of the following operating 

systems is produced by IBM? 

(A)   OS-2 

(B) Windows 

(C) DOS 

(D) UNIX 

 98. fuEufyf[kr esa ls dkSu lk vkWijsfVax flLVe 

IBM }kjk fufeZr gS\ 

(A) vksŒ,lŒ&2 

(B) foaMkst 

(C) MkWl 

(D) ;wfuDl 

99. The lowest level of input output 

control consist of: 

(A)   Device drivers 

(B) Interrupt handler 

(C) Both (A) & (B) 

(D) None of these 

 99. buiqV vkmViqV fu;a=.k ds fuEure Lrj ls 

feydj curk gS% 

(A) fMokbl Mªkboj 

(B) baVjIV gSaMyj 

(C) nksuksa(A)vkSj (B) 

(D) buesa ls dksbZ ugha 

100. High-resolution, bit-mapped 
displays are useful for displaying: 
(A)   more characters 
(B) clearer characters 
(C) graphics 
(D) All of the above 

 100. mPp&fjt+kWY;w’ku] fcV&EkSIM fMLIys iznf’kZr 
djus ds fy, mi;ksxh gSa% 
(A) vf/kd o.kZ 
(B) Li”V o.kZ 
(C) xzkfQDl 
(D) mijksDr lHkh 

 

****** 
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Rough Work / jQ dk;Z 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  

 


